Lattice Multiplication

Use lattice multiplication to find each product.

3 3 1 2 9 6 7 3
4 3
1 1
5 3
3312 x 415 = 9673 x 313 =
4 8 0 2 3 1 0 2
8 6
1 0
8 0
4802 x 818 = 3102 x 600 =
8 6 5 0 5 2 9 0
3 6
4 7
3 7
8650 x 343 = 5290 x 677 =
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Lattice Multiplication Answers

Use lattice multiplication to find each product.

2 1 1 0 3
2 4 8 5 0
3 2 2 0 4
9 2 4 0 0
2 1 1 0 3
6 4 8 5 0
6 9 5 0

8650 x 343 =2.966,950

1 0 0 1 6

3102 x 600 = 1,861,200

3 1 5 0 6
3 0 2 4 0
3 | 6 0 7
5 5 4 3 0
3 | 6 0 7
8 5 4 3 0
1 3 3 0

5200 x 677 = 3,581,330
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